THMREFEFKBERFRT 47— FRERKR

2 & KEKIZKRDDED &
HET-IEKEK (FEREKE) TR ZROHETH,
N= 172

Bl B EEES
1. Re% 132 76. 1%
2. BLLE 46 26. 7%
3 REM (B, KERLZLIZHLY) 96 55.8%
4 HENDRS 38 22.1%
5. ZDith 0 0. 0%

(TRet I DEIEATE. 7%EREE MOER EASHEESHTNET,
GOTTRE (B8, KEBA LML) 1455, 8%, HENRS 22 1%TLE,
24 TRELLKEKERDDENBNESTT,

1.22M

2.8

5.Z D1tk

0%

10% 20% 30% 40%

50% 60%

70% 80%

90%

100%

\_
EIZ%k - b3
T4 7l B4 i N 2K
105 65 2 172
S 80] 76.2% 51] 78.5% 1 50. 0% 132] 76.7%
2. 50L& 30| 28.6% 16| 24.6% ol o0.0% 46| 26.7%
3. REM (EH. KEBZLITHN) 59 56.2% 35| 53.8% 2[ 100. 0% 96 55. 8%
4 HEDORS 18] 17.1% 19 29.24 1| 50.0% 38| 22.1%
5 FDith of 0.0% of 0.0% of 0.0% of 0.0%
nEE sk TH g




BIEH - b3
F1 20mkim]| 20t [ 30t | 40k [ b0 | 605k [70F LI L] AER
10 24 31 34 19 26 217 1
1. 22 5[50.0%] 18[75.0%| 24]|77.4%] 26[76.5%| 15|78.9% 24[92.3%| 19]70.4%  1{r00.0%
2.8l 7{70. 0% 2| 8. 3% 825. 8% 9(26. 5% 6(31. 6% 934. 6% 5(18.5% 0[0. 0%
L REM (B, KEBLLEICIRLY) 2120.0%] 16]66.7%| 14]45.2% 22[64.7% 10[52.6%| 12]|46.2%| 19]70.4% 11100. 0%
4 HEDRS 2[20.0%]  5]20.8%  6[19.4% 7120.6%  6[31.6%  4|15.4%|  8[29.6%  0[0.0%
5 F0ith 0]0.0% 010. 0% 010. 0% 0[0. 0% 0[0. 0% 0[0. 0% 0]0. 0% 0]0. 0%

2.6\

3. REM (B KERHGEITHEL)

H20 R w20t W30 n40mX nsoEM meomRit

70 L = B

4. HEORE E

5.F0fth

0%

10% 20%

30%

40% 50% 60%

70%

80%

90%

100%




